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AQA A2 Biology 

8 Homeostasis and hormones
1
Line A is the fox. It maintains a constant core temperature despite changes in the environmental temperature.


Line B is the lizard. Its core temperature reflects that of the environment. 
[2]
2
(a)
To establish a baseline level/to make sure that the level is not elevated by recently 
eaten food or drink. 
[1]

(b)
The glucose is absorbed from the gut into the blood. 
[1]

(c)
It is detected by β-cells in islets of Langerhans. Insulin is secreted. Insulin increases 
the permeability of cell membranes to glucose. 
[3]

(d)
Individual A has higher fasting levels, is slower to reverse the change and never 
returns to normal levels. 
[3]

(e)
Lose weight. 
[1]
3
(a)
A = progesterone



B = LH



C = FSH
[3]

(b)
Day 14, because of a surge of LH or because progesterone levels rise just after. 
[2]

(c)
Oestrogen reaches a threshold where it stimulates LH. LH stimulates oestrogen. 
Levels rise until ovulation takes place. 
[3]

(d)
Progesterone levels would remain high. 
[1]
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